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Logical Predication

Watch out for phrases that detract from the logical argument.

Modification problems: Modifiers should be positioned so it is clear what word or words they are meant
to modify. If modifiers are not positioned clearly, they can cause illogical references or comparisons, or
distort the meaning of the statement.

Examples:

Correct: “I put the cake that I baked by the door.” Incorrect: “I put the cake by the door that I baked.”
Correct: “Reading my mind, she gave me the delicious cookie.” Incorrect: “Reading my mind, the cookie
she gave me was delicious.”

Correct: “In the Middle Ages, the world was believed to be flat.” Incorrect: “In the Middle Ages, the

world was flat.”

Parallelism

Constructing a sentence that is parallel in structure depends on making sure that the different
elements in the sentence balance each other; this is a little bit like making sure that the two sides of a
mathematical equation are balanced. To make sure that a sentence is grammatically correct, check to
ensure that phrases, clauses, verbs, and other sentence elements parallel each other.

Examples:

Correct: “I took a bath, went to sleep, and woke up refreshed.” Incorrect: “I took a bath, sleeping, and
waking up refreshed.”

Correct: “The only way to know is to take the plunge.” Incorrect: “The only way to know is taking the
plunge.”

Rhetorical Construction

Good sentence structure avoids constructions that are awkward, wordy, redundant, imprecise, or unclear,
even when they are free of grammatical errors.

Examples:

Correct: “Before we left on vacation, we watered the plants, checked to see that the stove was off, and
set the burglar alarm.” Incorrect: “Before we left to go on vacation, we watered, checked to be sure that
the stove had been turned off, and set it.”

Verb Form

In addition to watching for problems of agreement or parallelism, make sure that verbs are used in the
correct tense. Be alert to whether a verb should reflect past, present, or future tense.

Examples:

Correct: “I went to school yesterday.”“I go to school every weekday.” “I will go to school tomorrow.”

Each tense also has a perfect form (used with the past participle—e.g., walked, ran), a progressive form
(used with the present participle—e.g., walking, running), and a perfect progressive form (also used with
the present participle—e.g., walking, running).

Present perfect: Used with has or have, the present perfect tense describes an action that occurred at an
indefinite time in the past or that began in the past and continues into the present.

Examples:

Correct: “I have traveled all over the world.” (at an indefinite time)

Correct: “He has gone to school since he was five years old.” (continues into the present)



9.1 Sentence Correction Basic English Grammar Rules

Past perfect: This verb form is used with Aad to show the order of two events that took place in the past.
Example:
Correct: “By the time I left for school, the cake had been baked.”

Future perfect: Used with will have, this verb form describes an event in the future that will precede
another event.

Example:

Correct: “By the end of the day, I will have studied for all my tests.”

Present progressive: Used with am, is, or are, this verb form describes an ongoing action that is happening
now.

Examples:

Correct: “I am studying for exams.” “The student is studying for exams.” “We are studying for exams.”

Past progressive: Used with was or were, this verb form describes something that was happening when
another action occurred.

Examples:

Correct: “The student was studying when the fire alarm rang.” “They were studying when the fire broke
out.”

Future progressive: Used with will be or shall be, this verb tense describes an ongoing action that will
continue into the future.
Example:

Correct: “The students will be studying for exams throughout the month of December.”

Present perfect progressive: Used with have been or has been, this verb tense describes something that
began in the past, continues into the present, and may continue into the future.

Example:

Correct: “The student has been studying hard in the hope of acing the test.”

Past perfect progressive: Used with had been, this verb form describes an action of some duration that was
completed before another past action occurred.

Example:

Correct: “Before the fire alarm rang, the student had been studying.”

Future perfect progressive: Used with will have been, this verb form describes a future, ongoing action that
will occur before a specified time.

Example:

Correct: “By the end of next year, the students will have been studying math for five years.”
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9.2 Study Suggestions

There are two basic ways you can study for sentence correction questions:

* Read material that reflects standard usage.

One way to gain familiarity with the basic conventions of standard written English is simply to
read. Suitable material will usually be found in good magazines and nonfiction books, editorials in
outstanding newspapers, and the collections of essays used by many college and university writing
courses.

Review basic rules of grammar and practice with writing exercises.
Begin by reviewing the grammar rules laid out in this chapter. Then, if you have school
assignments (such as essays and research papers) that have been carefully evaluated for
grammatical errors, it may be helpful to review the comments and corrections.

9.3 What Is Measured

Sentence correction questions test three broad aspects of language proficiency:

¢ Correct expression

A correct sentence is grammatically and structurally sound. It conforms to all the rules of standard
written English, including noun-verb agreement, noun-pronoun agreement, pronoun consistency,
pronoun case, and verb tense sequence. A correct sentence will not have dangling, misplaced,

or improperly formed modifiers; unidiomatic or inconsistent expressions; or faults in parallel
construction.

Effective expression

An effective sentence expresses an idea or relationship clearly and concisely as well as
grammatically. This does not mean that the choice with the fewest and simplest words is
necessarily the best answer. It means that there are no superfluous words or needlessly complicated
expressions in the best choice.

Proper diction

An effective sentence also uses proper diction. (Diction refers to the standard dictionary meanings
of words and the appropriateness of words in context.) In evaluating the diction of a sentence, you
must be able to recognize whether the words are well chosen, accurate, and suitable for the context.

9.4 Test-Taking Strategies

' 8

2

Read the entire sentence carefully.
Try to understand the specific idea or relationship that the sentence should express.

Evaluate the underlined passage for errors and possible corrections before reading

the answer choices.
'This strategy will help you discriminate among the answer choices. Remember, in some cases the

underlined passage is correct.

Read each answer choice carefully.

'The first answer choice always repeats the underlined portion of the original sentence. Choose this
answer if you think that the sentence is best as originally written, but do so only after examining all
the other choices.



9.5 Sentence Correction The Directions

4. Try to determine how to correct what you consider to be wrong with the original
sentence.
Some of the answer choices may change things that are not wrong, whereas others may not
change everything that is wrong.

5. Make sure that you evaluate the sentence and the choices thoroughly.
Pay attention to general clarity, grammatical and idiomatic usage, economy and precision of
language, and appropriateness of diction.

6. Read the whole sentence, substituting the choice that you prefer for the
underlined passage.
A choice may be wrong because it does not fit grammatically or structurally with the rest of the
sentence. Remember that some sentences will require no correction. When the given sentence
requires no correction, choose the first answer.

9.5 The Directions

These are the directions that you will see for sentence correction questions when you take the GMAT
exam. If you read them carefully and understand them clearly before going to sit for the test, you

will not need to spend too much time reviewing them once you are at the test center and the test is
under way.

Sentence correction questions present a sentence, part or all of which is underlined. Beneath the
sentence, you will find five ways of phrasing the underlined passage. The first answer choice repeats
the original underlined passage; the other four are different. If you think the original phrasing is best,
choose the first answer; otherwise, choose one of the others.

This type of question tests your ability to recognize the correctness and effectiveness of expression in
standard written English. In choosing your answer, follow the requirements of standard written English;
that is, pay attention to grammar, choice of words, and sentence construction. Choose the answer that
produces the most effective sentence; this answer should be clear and exact, without awkwardness,
ambiguity, redundancy, or grammatical error.
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The intricate structure of the compound insect eye,
having hundreds of miniature eyes called ommatidia,
help explain why scientists have assumed that it
evolved independently of the vertebrate eye.

(A)  having hundreds of miniature eyes called
ommatidia, help explain why scientists have
assumed that it

(B) having hundreds of miniature eyes that are called
ommatidia, helps explain why scientists have
assumed that they

(C)  with its hundreds of miniature eyes that are
called ommatidia, helps explain scientists’
assuming that they

(D)  with its hundreds of miniature eyes called
ommatidia, help explain scientists’ assuming that it

(E)  with its hundreds of miniature eyes called
ommatidia, helps explain why scientists have
assumed that it

In 1979 lack of rain reduced India’s rice production
to about 41 million tons, nearly 25 percent less than
those of the 1978 harvest.

(A)  less than those of the 1978 harvest
(B) less than the 1978 harvest

(C) less than 1978

(D) fewer than 1978

(E}  fewer than that of India's 1978 harvest

Hurricanes at first begin traveling from east to west,
because that direction is the way the prevailing winds
in the tropics blow, but they then veer off toward
higher latitudes, in many cases changing direction
toward the east before dissipating over the colder,
more northerly waters or over land.

(A)  Hurricanes at first begin traveling from east
to west, because that direction is the way the
prevailing winds in the tropics blow, but

(B) At first, hurricanes travel from east to west,
because that is the direction of the prevailing
winds in the tropics, but

(C)  While hurricanes travel from east to west at first,
the direction of the prevailing winds blowing in
the tropics, and

(D) Because hurricanes at first travel from east to
west, since it is the direction of the prevailing
winds in the tropics,

681.

(E)  Hurricanes, beginning by traveling from east
to west, because this is the direction of the
prevailing winds in the tropics,

. Unlike the virginal, whose single set of strings runs

parallel to the front edge of the instrument, the
harpsichord’s several sets of strings are placed at right
angles to its front edge.

(A)  whose single set of strings runs parallel to the
front edge of the instrument, the harpsichord’s
several sets of strings are

(B)  with a single set of strings running parallel to the
front edge of the instrument, the several sets of
strings of the harpsichord are

(C)  which has a single set of strings that runs
parallel to the front edge of the instrument, in the
case of the harpsichord, several sets of strings
are

(D)  which has a single set of strings that run
parallel to the front edge of the instrument, the
harpsichord has several sets of strings

(E) inwhich a single set of strings run parallel to the
front edge of the instrument, the harpsichord's
several sets of strings are

Although Alice Walker published a number of essays,
poetry collections, and stories during the 1970s, her
third novel, The Color Purple, which was published in
1982, brought her the widest acclaim in that it won
both the National Book Award as well as the Pulitzer
Prize.

(A)  which was published in 1982, brought her the
widest acclaim in that it won both the National
Book Award as well as the Pulitzer Prize

(B) published in 1982, bringing her the widest
acclaim by winning both the National Book Award
and the Pulitzer Prize

(C) published in 1982, brought her the widest
acclaim, winning both the National Book Award
and the Pulitzer Prize

(D)  was published in 1982 and which, winning both
the National Book Award and the Pulitzer Prize,
brought her the widest acclaim

(E) was published in 1982, winning both the National
Book Award as well as the Pulitzer Prize, and
bringing her the widest acclaim
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Like ancient Egyptian architectural materials that
were recycled in the construction of ancient Greek
Alexandria, so ancient Greek materials from the
construction of that city were reused in subsequent
centuries by Roman, Muslim, and modern builders.

(A)  Like ancient Egyptian architectural materials that
were recycled in the construction of

(B) Like recycling ancient Egyptian architectural
materials to construct

(C)  Just as ancient Egyptian architectural materials
were recycled in the construction of

(D)  Just as they recycled ancient Egyptian
architectural materials in constructing

(E)  Just like ancient Egyptian architectural materials
that were recycled in constructing

Especially in the early years, new entrepreneurs may
need to find resourceful ways, like renting temporary
office space or using answering services, that make
their company seem large and more firmly established
than they may actually be.

(A)  that make their company seem large

(B) to make their companies seem larger

(C)  thus making their companies seem larger
(D) so that the companies seem larger

(E)  of making their company seem large

Unlike the nests of leaf cutters and most other ants,
situated underground or in pieces of wood, raider
ants make a portable nest by entwining their long
legs to form “curtains” of ants that hang from logs or
boulders, providing protection for the queen and the
colony larvae and pupae.

(A)  the nests of leaf cutters and most other ants,

(B) the nests of leaf cutters and most other ants,
which are

(C) leaf cutters and most other ants, whose nests are

(D) leaf cutters and most other ants in having nests

(E) those of leaf cutters and most other ants with nests

Turtles, like other reptiles, can endure long fasts,

in their ability to survive on weekly or even monthly
feedings; however, when food is readily available, they
may eat frequently and grow very fat.

(A) fasts, in their ability to survive
(B) fasts, having their ability to survive

691.

692.

693.

(C) fasts, due to having the ability of surviving
(D) fasts because they are able to survive
(E) fasts because of having the ability of surviving

Thai village crafts, as with other cultures, have
developed through the principle that form follows
function and incorporate readily available materials
fashioned using traditional skills.

(A) as with

(B) as did those of
(C) asthey havein
(D) likein

(E) like those of

Tropical bats play important roles in the rain forest
ecosystem, aiding in the dispersal of cashew, date,
and fig seeds; pollinating banana, breadfruit, and
mango trees; and indirectly help produce tequila by
pollinating agave plants.

(A)  pollinating banana, breadfruit, and mango trees;
and indirectly help produce

(B) pollinating banana, breadfruit, and mango trees;
and indirectly helping to produce

(C) pollinating banana, breadfruit, and mango trees;
and they indirectly help to produce

(D) they pollinate banana, breadfruit, and mango
trees; and indirectly help producing

(E) they pollinate banana, breadfruit, and mango
trees; indirectly helping the producing of

Discussion of greenhouse effects have usually had
as a focus the possibility of Earth growing warmer
and to what extent it might, but climatologists have
indicated all along that precipitation, storminess, and
temperature extremes are likely to have the greatest
impact on people.

(A)  Discussion of greenhouse effects have usually
had as a focus the possibility of Earth growing
warmer and to what extent it might,

(B) Discussion of greenhouse effects has usually
had as its focus whether Earth would get warmer
and what the extent would be,

(C) Discussion of greenhouse effects has usually

focused on whether Earth would grow warmer
and to what extent,
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a vast region can, in part, be explained as a very rapid
movement of people from one end of North America to
the other.

(A)  The remarkable similarity of Thule artifacts
throughout a vast region can, in part, be
explained as

(B)  Thule artifacts being remarkably similar
throughout a vast region, one explanation is

(C)  That Thule artifacts are remarkably similar
throughout a vast region is, in part, explainable as

(D)  One explanation for the remarkable similarity of
Thule artifacts throughout a vast region is that
there was

(E)  Throughout a vast region Thule artifacts are
remarkably similar, with one explanation for this
being

The widely accepted big bang theory holds that the
universe began in an explosive instant ten to twenty
billion years ago and has been expanding ever since.

(A)  that the universe began in an explosive instant
ten to twenty billion years ago and has been
expanding

(B) that the universe had begun in an explosive
instant ten to twenty billion years ago and had
been expanding

(C) that the beginning of the universe was an
explosive instant ten to twenty billion years ago
that has expanded

(D) the beginning of the universe to have been an
explosive instant ten to twenty billion years ago
that is expanding

(E)  the universe to have begun in an explosive
instant ten to twenty billion years ago and has
been expanding

Between 14,000 and 8,000 B.c. the ice cap that
covered northern Asia, Europe, and America began
to melt, uncovering vast new areas that were to be
occupied by migrating peoples moving northward.

(A} began to melt, uncovering vast new areas that
were to be occupied

(B) began melting, to uncover vast new areas to be
occupied

(C) began, by melting, to uncover vast new areas for
occupation

703.

704.

705.

(D) began, after melting, uncovering vast new areas
which are to be occupied

(E)  would begin to uncover, through melting, vast
new areas for occupation

Bengal-born writer, philosopher, and educator
Rabindranath Tagore had the greatest admiration
for Mohandas K. Gandhi the person and also as a
politician, but Tagore had been skeptical of Gandhi's
form of nationalism and his conservative opinions
about India's cultural traditions.

(A)  for Mohandas K. Gandhi the person and also as
a politician, but Tagore had been

(B) for Mohandas K. Gandhi as a person and as a
politician, but Tagore was also

(C)  for Mohandas K. Gandhi not only as a person
and as a politician, but Tagore was also

(D)  of Mohandas K. Gandhi as a person and as also
a politician, but Tagore was

(E)  of Mohandas K. Gandhi not only as a person and
as a politician, but Tagore had also been

Traffic safety officials predict that drivers will be
equally likely to exceed the proposed speed limit as

the current one.

(A)  equally likely to exceed the proposed speed limit
as

(B) equally likely to exceed the proposed speed limit
as they are

(C) equally likely that they will exceed the proposed
speed limit as

(D} as likely that they will exceed the proposed
speed limit as

(E) as likely to exceed the proposed speed limit as
they are

Written early in the French Revolution, Mary
Wollstonecraft's A Vindication of the Rights of Man
(1790) and A Vindication of the Rights of Woman
(1792) attributed Europe's social and political ills to be
the result of the dominance of aristocratic values and
patriarchal hereditary privilege.

(A)  Mary Wollstonecraft’s A Vindication of the Rights
of Man (1790) and A Vindication of the Rights
of Woman (1792) attributed Europe’s social and
political ills to be the result of
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Elizabeth Barber, the author of both Prehistoric
Textiles, a comprehensive work on cloth in the

early cultures of the Mediterranean, and also of
Women's Work, a more general account of early cloth
manufacture, is an expert authority on textiles in
ancient societies.

(A) also of Women’s Work, a more general account
of early cloth manufacture, is an expert authority
on

(B) also Women's Work, a more general account of
cloth manufacture, is an expert authority about

(C)  of Women's Work, a more general account about
early cloth manufacture, is an authority on

(D)  of Women'’s Work, a more general account about
early cloth manufacture, is an expert authority
about

(E)  Women's Work, a more general account of early
cloth manufacture, is an authority on

Digging in sediments in northern China, evidence

has been gathered by scientists suggesting that
complex life-forms emerged much earlier than they had
previously thought.

(A)  evidence has been gathered by scientists
suggesting that complex life-forms emerged
much earlier than they had

(B) evidence gathered by scientists suggests a
much earlier emergence of complex lifeforms
than had been

(C) scientists have gathered evidence suggesting that
complex life-forms emerged much earlier than

(D) scientists have gathered evidence that suggests
a much earlier emergence of complex life-forms
than that which was

(E) scientists have gathered evidence which
suggests a much earlier emergence of complex
life-forms than that

Employing many different techniques throughout his
career, Michelangelo produced a great variety of art
works, including paintings, for example, in the Sistine
Chapel, to sculpture, for example, the statue of David.

(A)  including paintings, for example, in the Sistine
Chapel, to sculpture, for example,

(B) including paintings, for example, in the Sistine
Chapel, to sculpture, like

718.

719.

9.6 Sentence Correction Practice Questions

(C) including paintings, such as those in the Sistine
Chapel, and sculpture, as

(D) ranging from paintings, such as those in the
Sistine Chapel, to sculpture, such as

(E) ranging from paintings, such as in the Sistine
Chapel, and sculpture, such as

Qutlining his strategy for nursing the troubled
conglomerate back to health, the chief executive’s
plans were announced on Wednesday for cutting the
company's huge debt by selling nearly $12 billion in
assets over the next 18 months.

(A) executive's plans were announced on Wednesday
for cutting the company's huge debt by selling
nearly $12 billion in assets over the next
18 months

(B) executive's plans, which are to cut the company's
huge debt by selling nearly $12 billion in assets
over the next 18 months, were announced on
Wednesday

(C) executive's plans for cutting the company’s
huge debt by selling nearly $12 billion in assets
over the next 18 months were announced on
Wednesday

(D) executive announced plans Wednesday to cut the
company’s huge debt by selling nearly $12 billion
in assets over the next 18 months

(E) executive announced plans Wednesday that are
to cut the company’s huge debt by selling nearly
$12 billion in assets over the next 18 months

It is called a sea, but the landlocked Caspian is actually
the largest lake on Earth, which covers more than four
times the surface area of its closest rival in size, North
America's Lake Superior.

(A) Itis called a sea, but the landlocked Caspian is
actually the largest lake on Earth, which covers

(B)  Although it is called a sea, actually the
landlocked Caspian is the largest lake on Earth,
which covers

(C) Though called a sea, the landlocked Caspian is
actually the largest lake on Earth, covering

(D)  Though called a sea but it actually is the largest
lake on Earth, the landlocked Caspian covers

(E) Despite being called a sea, the largest lake on
Earth is actually the landlocked Caspian, covering
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(C)  Inthe middle of the belt of asteroids that orbit the
Sun between Mars and Jupiter, the asteroid Ida,
discovered in 1884 and named for a mythological
nymph who cared for the infant Jupiter.

(D)  The asteroid Ida, named for a mythological
nymph who cared for the infant Jupiter and
discovered in 1884, is in the middle of the belt
of asteroids to orbit the Sun between Mars and
Jupiter.

(E) Ida, an asteroid discovered in 1884 and which
was named for a mythological nymph who cared
for the infant Jupiter, is in the middle of the belt
of asteroids to orbit the Sun between Mars and
Jupiter.

In ancient Thailand, much of the local artisans' creative

energy was expended for the creation of Buddha
images and when they constructed and decorated the
temples that enshrined them.

(A)  much of the local artisans' creative energy was
expended for the creation of Buddha images
and when they constructed and decorated the
temples that enshrined them

(B)  much of the local artisans’ creative energy was
expended on the creation of Buddha images and
on construction and decoration of the temples in
which they were enshrined

(C)  much of the local artisans' creative energy was
expended on the creation of Buddha images
as well as constructing and decoration of the
temples in which they were enshrined

(D) creating images of Buddha accounted for
much of the local artisans’ creative energy, and
also constructing and decorating the temples
enshrining them

(E) the creation of Buddha images accounted for
much of the local artisans’ creative energy
as well as construction and decoration of the
temples that enshrined them

735. The English physician Edward Jenner found that if

experimental subjects were deliberately infected with
cowpox, which caused only a mild iliness, they are
immune from smallpox.

(A} which caused only a mild illness, they are
immune from

736.

9.6 Sentence Correction Practice Questions

(B) causing only a mild illness, they become immune

from

(C)  which causes only a mild illness, they are
immune to

(D) causing only a mild illness, they became immune
from

(E)  which caused only a mild illness, they would
become immune to

Covering 71 percent of Earth's surface, the oceans
play an essential role in maintaining the conditions for
human existence on land, moderating temperature
by the absorption of heat and carbon dioxide, and
giving pure water back to the atmosphere through
evaporation.

(A)  Covering 71 percent of Earth’s surface, the
oceans play an essential role in maintaining
the conditions for human existence on land,
moderating

(B)  Covering 71 percent of Earth’s surface and
playing an essential role in maintaining the
conditions for human existence on land, the
oceans moderate

(C) The oceans cover 71 percent of Earth's
surface and play an essential role in maintaining
conditions for human existence on land, and by
moderating

(D)  The oceans cover 71 percent of Earth's
surface, play an essential role in maintaining
the conditions for human existence on land, and
moderate

(E) The oceans cover 71 percent of Earth's surface,
playing an essential role in maintaining the
conditions for human existence on land, and they
moderate
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(B) States have been invaded by leafy spurge, a
herbaceous plant from Eurasia, with milky sap,
that gives mouth sores to cattle and displaces
grasses and other cattle food, reridering

(C) States have been invaded by leafy spurge, a
herbaceous plant from Eurasia having milky sap
that gives mouth sores to cattle and displacing
grasses and other cattle food, rendering

(D) States, having been invaded by leafy spurge,
a herbaceous plant from Eurasia with milky
sap that gives mouth sores to cattle, displaces
grasses and other cattle food, and renders

(E)  States, having been invaded by leafy spurge, a
herbaceous plant from Eurasia that has milky
sap giving mouth sores to cattle and displacing
grasses and other cattle food, rendering

While it costs about the same to run nuclear plants as
other types of power plants, it is the fixed costs that
stem from building nuclear plants that makes it more
expensive for them to generate electricity.

(A)  While it costs about the same to run nuclear plants
as other types of power plants, it is the fixed costs
that stem from building nuclear plants that makes it
more expensive for them to generate electricity.

(B)  While the cost of running nuclear plants is about the
same as for other types of power plants, the fixed
costs that stem from building nuclear plants make
the electricity they generate more expensive.

(C) Even though it costs about the same to run
nuclear plants as for other types of power
plants, it is the fixed costs that stem from
building nuclear plants that makes the electricity
they generate more expensive.

(D) It costs about the same to run nuclear plants as for
other types of power plants, whereas the electricity
they generate is more expensive, stemming from
the fixed costs of building nuclear plants.

(E)  The cost of running nuclear plants is about the
same as other types of power plants, but the
electricity they generate is made more expensive
because of the fixed costs stemming from
building nuclear plants.

753.
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9.6 Sentence Correction Practice Questions

The 32 species that make up the dolphin family are
closely related to whales and in fact include the animal
known as the killer whale, which can grow to be 30
feet long and is famous for its aggressive hunting
pods.

(A) include the animal known as the killer whale,
which can grow to be 30 feet long and is

(B) include the animal known as the killer whale,
growing as big as 30 feet long and

(C) include the animal known as the killer whale,
growing up to 30 feet long and being

(D) includes the animal known as the killer whale,
which can grow as big as 30 feet long and is

(E) includes the animal known as the killer whale,
which can grow to be 30 feet long and it is

The first trenches that were cut into a 500-acre site
at Tell Hamoukar, Syria, have yielded strong evidence
for centrally administered complex societies in
northern regions of the Middle East that were arising
simultaneously with but independently of the more
celebrated city-states of southern Mesopotamia, in
what is now southern Iraq.

(A)  that were cut into a 500-acre site at Tell
Hamoukar, Syria, have yielded strong evidence
for centrally administered complex societies in
northern regions of the Middle East that were
arising simultaneously with but

(B) that were cut into a 500-acre site at Tell
Hamoukar, Syria, yields strong evidence that
centrally administered complex societies in
northern regions of the Middle East were arising
simultaneously with but also

(C)  having been cut into a 500-acre site at Tell
Hamoukar, Syria, have yielded strong evidence
that centrally administered complex societies in
northern regions of the Middle East were arising
simultaneously but

(D) cutinto a 500-acre site at Tell Hamoukar, Syria,
yields strong evidence of centrally administered
complex societies in northern regions of the
Middle East arising simultaneously but also

(E) cutinto a 500-acre site at Tell Hamoukar, Syria,
have yielded strong evidence that centrally
administered complex societies in northern
regions of the Middle East arose simultaneously
with but
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770. Although a number of excellent studies narrate

the development of domestic technology and

its impact on housewifery, these works do not
discuss the contributions of the women employed
by manufacturers and utility companies as product
demonstrators and publicists, who initially promoted
new and unfamiliar technology to female consumers.

771.

772.

(A)

(B)

(C)

(D)

(E)

by manufacturers and utility companies as
product demonstrators and publicists,

to be product demonstrators and publicists by
manufacturers and utility companies,

to demonstrate and publicize their products by
manufacturers and utility companies

by manufacturers and utility companies to be
demonstrators and publicists of their products

by manufacturers and utility companies to
demonstrate and publicize their products

The absence from business and financial records of
the nineteenth century of statistics about women leave

us with no record of the jobs that were performed by

women and how they survived economically.

(A)

(B)

(C)

(D)

(E)

from business and financial records of the
nineteenth century of statistics about women
leave us with no record of the jobs that were
performed by women and

from business and financial records of statistics
about women from the nineteenth century leave us
with no record of what jobs women performed or

of statistics for women from business and
financial records in the nineteenth century leaves
us with no record of either the jobs that women
were performing and of

of statistics on women from business and financial
records in the nineteenth century leave us with no
record of the jobs that women performed or of

of statistics about women from business and
financial records of the nineteenth century leaves
us with no record of either what jobs women
performed or

Heating-oil prices are expected to be higher this year

than last because refiners are paying about $5 a barrel

more for crude oil than they were last year.

(A)

Heating-oil prices are expected to be higher this
year than last because refiners are paying about
S5 a barrel more for crude oil than they were

773.

(B)

(&)

(D)

(E)

9.6 Sentence Correction Practice Questions

Heating-oil prices are expected to rise higher this
year over last because refiners pay about S5 a
barrel for crude oil more than they did

Expectations are for heating-oil prices to be
higher this year than last year's because refiners
are paying about S5 a barrel for crude oil more
than they did

It is the expectation that heating-oil prices will be
higher for this year over last because refiners
are paying about $5 a barrel more for crude oil
now than what they were

It is expected that heating-oil prices will rise higher
this year than last year's because refiners pay
about $5 a barrel for crude oil more than they did

Even though Clovis points, spear points with

longitudinal grooves chipped onto their faces, have

been found all over North America, they are named for

the New Mexico site where they were first discovered

in 1932,

(A)

(B)

(C)

(D)

(E)

Even though Clovis points, spear points with
longitudinal grooves chipped onto their faces,
have been found all over North America, they are
named for the New Mexico site where they were
first discovered in 1932.

Although named for the New Mexico site where
first discovered in 1932, Clovis points are spear
points of longitudinal grooves chipped onto
their faces and have been found all over North
America.

Named for the New Mexico site where they have
been first discovered in 1932, Clovis points,
spear points of longitudinal grooves chipped
onto the faces, have been found all over North
America.

Spear points with longitudinal grooves that are
chipped onto the faces, Clovis points, even
though named for the New Mexico site where
first discovered in 1932, but were found all over
North America.

While Clovis points are spear points whose faces
have longitudinal grooves chipped into them,
they have been found all over North America,
and named for the New Mexico site where they
have been first discovered in 1932.
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789.

790.

(D) Jupiter not only is three times as massive as
Saturn, the next largest

(E)  Jupiter is not only three times so massive as
Saturn, the next larger

While many of the dinosaur fossils found recently

in northeast China seem to provide evidence of the
kinship between dinosaurs and birds, the wealth of
enigmatic fossils seem more likely at this stage that
they will inflame debates over the origin of birds rather
than settle them.

(A)  seem more likely at this stage that they will inflame
debates over the origin of birds rather than

(B)  seem more likely that it will inflame debates over
the origin of birds at this stage than

(C) seems more likely to inflame debates on the
origin of birds at this stage rather than

(D) seems more likely at this stage to inflame
debates over the origin of birds than to

(E)  seems more likely that it will inflame debates on
the origin of birds at this stage than to

Found only in the Western Hemisphere and surviving
through extremes of climate, hummingbirds' range
extends from Alaska to Tierra del Fuego, from sea-level
rain forests to the edges of Andean snowfields and ice
fields at altitudes of 15,000 feet.

(A)  Found only in the Western Hemisphere
and surviving through extremes of climate,
hummingbirds’ range extends

(B) Found only in the Western Hemisphere,
hummingbirds survive through extremes of
climate, their range extending

(C)  Hummingbirds, found only in the Western
Hemisphere and surviving through extremes of
climate, with their range extending

(D)  Hummingbirds, found only in the Western
Hemisphere and surviving through extremes of
climate, their range extends

(E)  Hummingbirds are found only in the Western
Hemisphere, survive through extremes of
climate, and their range extends
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She was less successful after she had emigrated

to New York compared to her native Germany,
photographer Lotte Jacobi nevertheless earned a small
group of discerning admirers, and her photographs
were eventually exhibited in prestigious galleries
across the United States.

(A)  She was less successful after she had emigrated
to New York compared to

(B) Being less successful after she had emigrated to
New York as compared to

(C) Less successful after she emigrated to New York
than she had been in

(D)  Although she was less successful after
emigrating to New York when compared to

(E)  She had been less successful after emigrating to
New York than in

Scientists have recently found evidence that black
holes—regions of space in which matter is so
concentrated and the pull of gravity so powerful that
nothing, not even light, can emerge from them—probably
exist at the core of nearly all galaxies and the mass of
each black hole is proportional to its host galaxy.

(A) exist at the core of nearly all galaxies and the
mass of each black hole is proportional to

(B) exist at the core of nearly all galaxies and that the
mass of each black hole is proportional to that of

(C) exist at the core of nearly all galaxies, and that
the mass of each black hole is proportional to

(D) exists at the core of nearly all galaxies, and that the
mass of each black hole is proportional to that of

(E) exists at the core of nearly all galaxies and the
mass of each black hole is proportional to that of

The use of lie detectors is based on the assumption that
lying produces emotional reactions in an individual that,
in turn, create unconscious physiological responses.

(A)  that, in turn, create unconscious physiological
responses

(B) that creates unconscious physiological
responses in turn

(C) creating, in turn, unconscious physiological
responses

(D) to create, in turn, physiological responses that
are unconscious

(E)  who creates unconscious physiological
responses in turn
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(D) the finding of waterlogged latex balls at EI Manati
and the painting of representations of ballplayers
on ceramics found at San Lorenzo attests

(E) the finding of waterlogged latex balls at EI Manati
and of representations of ballplayers painted on
ceramics at San Lorenzo attest

As criminal activity on the Internet becomes more and
more sophisticated, not only are thieves able to divert
cash from company bank accounts, they can also pilfer
valuable information such as business development
strategies, new product specifications, and contract
bidding plans, and sell the data to competitors.

(A) they can also pilfer valuable information such as
business development strategies, new product
specifications, and contract bidding plans, and
sell

(B) they can also pilfer valuable information that
includes business development strategies, new
product specifications, and contract bidding
plans, and selling

(C) also pilfering valuable information including
business development strategies, new product
specifications, and contract bidding plans, selling

(D)  but also pilfer valuable information such as
business development strategies, new product
specifications, and contract bidding plans to sell

(E)  but also pilfering valuable information such as
business development strategies, new product
specifications, and contract bidding plans and
selling

Last week local shrimpers held a news conference to
take some credit for the resurgence of the rare Kemp's
ridley turtle, saying that their compliance with laws
requiring that turtle-excluder devices be on shrimp nets
protect adult sea turtles.

(A)  requiring that turtle-excluder devices be on
shrimp nets protect

(B) requiring turtle-excluder devices on shrimp nets
is protecting

(C) that require turtle-excluder devices on shrimp
nets protect

802.
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(D) to require turtle-excluder devices on shrimp nets
are protecting

(E) to require turtle-excluder devices on shrimp nets
is protecting

A ruined structure found at Agaba, Jordan, was

probably a church, as indicated in its eastward

orientation and by its overall plan, as well as artifacts,
such as glass oiHamp fragments, found at the site.

(A) A ruined structure found at Aqaba, Jordan, was
probably a church, as indicated in its eastward
orientation and by its overall plan, as well as

(B) A ruined structure found at Agaba, Jordan, once
probably being a church, was indicated by its
eastward orientation, overall plan, and

(C) Indicating that a ruined structure found at Aqaba,
Jordan, was probably a church were its eastward
orientation and overall plan, but also the

(D) A ruined structure found at Agaba, Jordan, was
probably a church, as indicates its eastward
orientation and overall plan, as well as the

(E)  That a ruined structure found at Agaba, Jordan,
was probably a church is indicated by its
eastward orientation and overall plan, as well as
by the

In the major cities of industrialized countries at the
end of the nineteenth century, important public places
such as theaters, restaurants, shops, and banks had
installed electric lighting, but electricity was in less
than 1 percent of homes, where lighting was still
provided mainly by candles or gas.

(A) electricity was in less than 1 percent of homes,
where lighting was still

(B) electricity was in less than 1 percent of homes
and lighting still

(C) there had been less than 1 percent of homes
with electricity, where lighting was still being

(D) there was less than 1 percent of homes that had
electricity, having lighting that was still

(E) less than 1 percent of homes had electricity,
where lighting had still been
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9.7 Answer Key

668. E 703. B 738. B 773. A
669. D 704. E 739. A 774. E
670. B 705. C 740. E 775. B
671. C 706. B 741. B 776. B
672. B 707. D 742, A 777. A
673. C 708. E 743. A 778. C
674. D 709. E 744. E 779. B
675. D 710. D 745, C 780. E
676. D 711. A 746. E 781. E
677. E 712. B 747. A 782. C
678. B 713. E 748. A 783. A
679. B 714, D 749. D 784. C
680. D 715. E 750. B 785. C
681. C 716. C 751. B 786. B
682. D 717. D 752. B 787. C
683. B 718. D 753. A 788. D
684. A 719. C 754. E 789. D
685. D 720. A 755. A 790. B
686. E 721. C 756. B 791. C
687. C 722. B 757. C 792. B
688. B 723. D 758. B 793. A
689. C 724. E 759. D 794. E
690. D 725. E 760. C 735. E
691. E 726. D 761. C 796. B
692. B 727. D 762. A 797. E
693. C 728. C 763. B 798. D
694. A 729. C 764. D 799. A
695. C 730. E 765. B 800. A
696. E 731.D 766. B 801. B
697. B 732. E 767. E 802. E
698. E 733. B 768. D 803. A
699. C 734. B 769. A 804. A
700. D 735. E 770. A 805. D
701. A 736. A 771. E 806. C
702. A 737. B 772. A 807. E
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